WIMRNE - SB/ AR > FERIE

R & E

@ ama W<V, Y2170389
" T —HE BYESERT
(R4 E] E3i%) = (e %E;E .J
MEP11 >
MEP12 |mshigsm|apm 40 S45C I TEmmEE \ |
MEP13 0Cr18Ni9 | SUS304 — ) @ =1 |
_5_ RO05 8/ B M | ViF |
Ve 16 N LT M3 [Y+F>10
15 4 |[Y+F312 Ji4
I N 6 |Y+F>15.5
- Et T ,,,34;,,,&7,@,% 17LAE 8 [Y+F219.5
2 > O N M10 [Y+F223.5 1] |
H aN D=NRJ ,ﬁ M12 |Y+F>29.5
© © ® _ M16 |Y+F237
> Mx1.5 < < W32 5’. M20_|Y+F>45
Y04 F*3' _|Nx1.5
F__INx15 E @
O MEMIINTER. OIMRSGETIERY IR,
O ITZAMIEM: BKEKRUDRKE>3; 4<D<MBEKE>70; 11<D18EAKE>90; D>18EEKE>110, (LEIEMRTNE=REN) NEpirE: E—0/B
IE=! =] b S
‘Eze-n Des B/NBR N mlvlialw —&@ Tmm| Do Y F N
K88 [Hi —Y F @& TMEP1T (8| 8] <0008 5 6
6 | 6335 456 M3 | 8]10] 8 ®@EPT2 [10 [10] o014 | =65 | &80 =5
8 | 8|00 5~80| 568 M4 [ 10 [ 1210 mmmeire e vor e
10 | 1000 6810 M6 | 13 | 15| 13 g_f};;ﬁ__ MEP12—8—Y25—F60—N8
12 [12 15 | 17 | 14 aJ &N
681012 M8
K e = N I I I L2
MEP11 (75 116100 81012(15) 192118 MEPTI[CO[ 8] 0005 | oo | e [66@ | ONGD
MEP12[17 |17 7~65 M10/79 W@EPT2[ 10 [10] 0014 68 10| WC AD
1012 (15) 16 F=21 23120 MEP12—8—Y25—F60—N8 —YC
MEP13|18 | 18 10~80 21
20 |20 i 24 [ 26 | 24 @
2al s 1012 (15) 16 20 M12|-oe ot oe .
25 -0.007 M16
5eR] 25 [3% 1012(15) 162024 (25) [y 29 | 31| 27 y
= o REBUNGT) O TRELE O BRELE
30a] 30 12(15) 1620 24 (25) 30 [yt 34 | 36 | 32
O A&FRF () ANRIAMFRE, ERAHEIENIEEANC,
[Oay:EES]
R e (7154 i " N o=
=] m H | | FEAE D=NE # —
MEP21 RE S M3 [Y+F>10
MEP22| wsmmsm | AmE | 4% | S45C mpem S M4 |VeF>12
MEP23 0Cr18Ni9[SUS304|  — F__INx1.5 M6 1Y+F215.5
M8 |Y+F219.5
Mx15_ g/ M10 |Y+F223.5
16 N M2 |[Y+F229.5 :
r M16 |Y+F237 k
' . E M20 |Y+F2>45
st o s
B OIMBEGRTIER T IR2,
5 . 2 OIZAMIEYE: SKERLDERKE>S;
Yeor [ prgt Nx15 4<D<MBEKE270; 11<D<18BRAKE290; JEJf @
D>18ARKE2110, (TZFIFEART IF=RmEN) UAnE: E—0/A
s B/NEfu —_®m=E T
(R Dg6 % = N M| S [(C) IR 96 Y F N 2%
3007 &= "MEP21[8>| 8] -0005 5 68 =)
g g o0 5 11045528 m 13 1?'2 €1EpZ2 [0 [70] ootd | = |59 757 - F
-0.005 = O EmEITE g — — — h [
o TTo1e8% TR M6 T3 i BREWIE  MEP22—8—Y25—F60—N8 45 4
12 [ 12 14 [16.2 [@ FisNT
681012 M8 R
13 | 13 2~65 17 o6 e bee | v F| n |PEET (U O fiEh A5
15 115 Joome 81012(15) Tk 8 o005 56® 6’:&30() " BRI1-5] 10~
MEP21 13 13 : M10| 19 [21.9 ®@EP22[70 [T0 1001 ZP| =P Fsmwcan | it [100% | B
MEP22 Ze—1e 1012(15)16 MEP22—8—Y25—F60—N8 —YC  :Hfi(T)
MEP23 50 T20 10~110 : 24 |27.7
20 [20 1012009 1620 o | 20 | I
123 1 25 3007 4~65 1012(15)162024 (25) (19} 57 |31.2 -3 e
30 M20 O TxRELE O BFRELE
e 30 12(15) 1620 24 (25) 30| 32 (36.9 1o/ RO.5max
O A%FF () ANRTAEFRES, B EENEEANC, - — 5 =5
: PRlE BAWE i i
—— FEYRIQE |[EEAE vC | O
L BRI E| AD
- . 2ot DEEVRTAE
‘ e\’ 920,04 OEREFAERISS
5 T a AD,
@ %2: SNZBRTIBNTIRY g S Aot
T T TR TEMBUARFRY | [EEE| NCS AD |8 |Ma | 8
BoEk r P [ssEE r f NC [ NC @ 10 M6 | 10
(M-N) (NC) NC() M3 [0.35 M12 1; M8 1;
4 1 1215002~03122321 4 145 1500.2~0.31-2932 NCO o5 e 10 15 15
5 3.9+4.1 5 3941 - - 5
6 4349 6 4.3~4.9 M6 _{0.75 M28) 15 —7 T M10 —=o—
8 | 15~25/0.2~0.6] 6.36.6 8 |1.5~2.50.2~0.6] 6.36.6 oo MO 5] BT
10 8.1~8.3 | 10 8.1-8.3 — 20 20
12 98~10.1] 12 9.8~10.1 TEANERFE |[EESE we 22 |22
16 |30 0.2~1.0013.6-138] 16 | °730)0.2~1.0[13.6-138
271018071, e o | DERANE, 25 s 25
20 [1.5~4.0 17.0~17.2] 20 [1.5~4.0 17.0~17.2 we | B g g 25A | M12
B =7
24 |, o0l00mg5200°200] 24 | ol [20.0~207 Wl 30 [Mm20] o
30 O T 0126.0~26.2] 30 Do 0126.0~26.2 30A | M16




	页 2

